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1. — is one of the petroleum fractions. Mineral salt O Diesel Q Urea O Ammonia
o LS L Jzs Ly s

Predict the unit of K for the following given
reversible reaction

2
250,+0, =280, , K, =_% QO Mol dn’ O Mol'dm® ~ O Mol'dn® () Moldm™
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A solution contains 1.O><10'7M,[OH’:]

concentration. This solution is: Strong Acid Neutral Basic Acidic
> V¥ et .0x107 M, OH™ | 060 41 O sty O use Oz O
a
Which of the following is a Lewis Base? _
4. HCI F BF, AICI
?‘[—.({rtﬁk/ﬁéu:uﬁ@/} O O C) ’ O ?

One molecule of H,O produces one H*

ion and one OH~ on dissociation. Pick the

5. correct option. O [or]=10 O [H*]=10* (O [or ]=10* O [H]=107

T OH™ i H ion 446152 Li¥ H,0O
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Unsaturated Hydrocarbons undergo
Bromination. Which of the following will

undergo bromine water test? -
6 P ;’ i b B o i O CH,-CH, () CH,=CH, () CH,-OH () CH,
_wZ.ch_.u*/f:u,M/b/u?L
Dehydrohalogenation means the removal Hydrogen and Hydrogen and
7. of: .. Oxygen O Halogen Carbon O Water
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is used as a catalyst added to
prepare propane according to the following

-
o
wm
equation .
8. CH,-CH=CH,+H,—>CH,-H,-CH, () Zn O Hcl O Ni O Pt
.‘)l&f/ﬁ’f JﬁJProPane awéu"—%}i{_; * .
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Glucose is a Hydro-carbon(CH,,0;) .
Identify glucose from the following. Aldose Tetrose Disaccharide Hexose -
o &BJ}L{G»}G/)-QMJK;/EQ.{I (C6H1206) 71 O Byl O JIE O ,Zfl/céb‘ C) J:é .
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Lowest temperature in stratosphere is: o 0 0 o
10. ) 55°C -55°C =5°C 5°C
?‘QW:,JI/,?/)[:;*/J:/’{VJ:/I O O O C) .
Which of the following is a reddish brown
1, 9357 O co O No O o O o .
. Y‘g_u'ufu'{du‘.”‘ft(j/c_u:oﬁéﬂ . i g .
12, —— I8 the formula of urea. ., O NHCOONH, O (NH)SO, (O NH,CONH, (O NH,NO, o
e Uy 6104
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SUPPLEMENTARY TABLE
Atomic No 1 2 3 4 5 6 7 8 9 10 11 12 13 | 14 | 15 | 16 17 18 | 19 | 20 .
Symbol H He | Li | Be B C N 0 F Ne | Na | Mg | Al Si P S cl Ar K Ca
Mass No 1 4 7 9 11 | 12 | 14 | 16|19 | 20 23 24 27 | 28 | 31 | 32 | 355 | 40 | 39 | 40 .
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Time allowed: 2:40 Hours

- L%
CHEMISTRY SSC-Ii

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.4

Answer any ELEVEN parts from the following. All parts carry equal marks.

(i)

(i)
(i)
(iv)
(v)
(vi)

SECTION — B (Marks 33)

Predict the products when temporary hard water is boiled. Write the chemical equation also.
State the Arrhenius concept of acids and bases.

(1M1 x3=

33)

Show that H,0 is a Bronsted base while HC! is a Bronsted acid with the help of chemical equations.

Classify the following as Acid, Base and Salt. NaOH, H,S0O, ,NaCl

Describe the Forth Floatation process briefly.
Classify the following as aldehyde, alkene and carboxylic acid.

(0] 0]
(@) CH;-CH=CH, (b) l (c) Il
CH,-C-OH H-C-CH,-CH,-CH,
Interpret macroscopic characteristics of forward and reverse reactions.
Write down the properties of water. (any three)
lllustrate how alkenes prepared from the following (a) Alcohol (b) Alkyl halide

Alkenes are oxidized in KMnO, Solution, but alkanes are not. Justify why?
What is the importance of nucleic acids?

Show through chemical equations, how ozone layer is being depleted?
Describe Clark's method for removal of hardness of water.

What is urea? How is it prepared?

Tabulate or write the products obtained from fractional distillation of petroleum.

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2x10=

What is law of a mass action? Derive K, expression and its units for the given equation
PCL +CL= PCL

Identify the functional groups in the following.
(i) CH,0CH, (ii) CH,COOH (iii) CH,COCH, (iv) CH,COOCH,

Write the steps to prepare Oxalic acid starting from Ethyne. Name the products formed in
each step.

Explain the sources and uses of any two of the following
i) Carbohydrates ii) Proteins iii) Lipids
List the types of hardness of water. Explain the methods for removing permanent

hardness of water
Outline the basic reactions involved in Solvey process.
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